


Atoms can be broken down into smaller
particles. This was first done with a
Crooke’s Tube.




Particles which make up the atom are
called subatomic particles
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Atomic Number

Symbol
Name Titanium

Ion charge(s)

Atomic Mass 47 9
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|SotopesSare:

Different forms of the same element
with the SAME # of Protons but with
DIFFERENT #'s of Neutrons
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Called the “Nuclear Notation”
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Uranium-235
or 23 is
used to make
atomic
bombs!
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When white light is shone through a
prism, it Is separated into different
colours.



The Pattern of Colours iIs called a
SPECTRUM




If a single element Is subjected to a high
voltage, It has a spectrum too, but it IS
different!




If a single element Is subjected to a high
voltage, It has a spectrum too, but It IS
different!

The spectrum of Hydrogen only has a
few “lines”






Bohr said the atom has different “Energy
Levels” or “Orbits” or “Shells” which the
electrons could inhabit.




Electron
Electron

(@) Ground state (b) Excited state




When electrons jump

= from higher orbits
= back to lower orbits,
) they “give off” energy

In the form of light.

Different “jumps”
give different colours.

Lire
=pectrum

Wavelendgth



Since atoms of
different
elements have
different
electron

arrangements,
each element
has Its own
unigue
spectrum!
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